MATH EXPLORATIONS Part 2

MODELING PROBLEMS ALGEBRAICALLY

GM" LW - i
SECTION 3.3 SOLVING EQUATIONS WITH SUBTRACTION

VOCABULARY
ﬁEFINITION EXAMPLE
Subtraction Property of Equality: T f A= 5, +hen 3zx+| D)
A-C = 8-C (ibpsadm s o) S5
4

Big Idea: How do we use the balance model to solve simple algebraic equations with subtraction?

This is a balance scale.

A

When we put a weight on one side of the scale, we must place the same weight on the other side in order

for the scale to be balanced. If the scale is balanced and equal weights are added or subtracted from both
sides of the scale, the scale will remain balanced.
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EXAMPLE 1

If Jeremy were three years older, he would be the same age as his twelve-year-old sister. What is Jeremy's
age?

Use the four-step method similar to the one in the previous section to solve this equation.

REp T \/:numéef 0(: LOM/S 0{00 w[/(’\-O\TL J_Wg IKs
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Step 3 (use the balance model):
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EXAMPLE 2

If Wesley finds 5 more marbles, he will have the same number of marbles as John. John has 11 marbles.
How many marbles does Wesley have?

Use the four-step process to solve this equation.
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EXAMPLE 3

Jeffrey checks his bank balance and finds that he has been charged a $6 fee. His balance is now —=$10.
What was Jeffrey's balance before the fee was assessed?

SOLUTION

Step 1: Define a variable.

b._ éﬂ[w\@ «gé_‘(ofe e wpe,e_

Step 2: Translate the problem into an equation.

b=G = ~I0

Step 3: Solve the equation. ﬂ
= ” 1L~,Vc “u ’4’_ : = E
( 2] meagns A meﬁé ) H/ ggg

Step 4: Check the solution.
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PRACTICE EXERCISES
Show all 4 steps and use the balance scale model if needed

1. 15=3+A
et
503 - 3-3 <A
12 = O+A
A= 12
S Y: D aka
M5 =342 e Al

x+( ~ =[5
x= =%

2. x+10=-8
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3. 8=N+12
Shep 3 g +12) = N+ l2e(-12) JE566
Y
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4. y+(-3)=9
slp 34 +3)-(5) = 9 -(-3)
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stept: check® 12(-8)= T 12
SUMMARY (What | learned today) \—‘JT
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